Alfk2

I~ ERE

IR e b

EEH | RN ERLE(%)
-1 BS-EXFH 9 9 100.0
-2 SHEDEE 14 10 71.4
1-3 EEFQEFRL) =T 15 12 80.0
I-1 #EKRDOEE 9 6 66.7
I-2 APMDHER-ER 33 31 93.9
I-3 Z£E8E 11 11 100.0
I-4 thigiEDRTmEEE 30 30 100.0
-1 FIEERGCOEMY—EX 22 21 95.5
M-2 —EXDBEDHERZR 28 19 67.9
M-3 H—EXDEIA- 10 10 100.0
M-4 Y—EXEHHBEDEE 10 10 100.0
I ~I ERE
I-1 Ié%g'%ZSﬁfr
100.0 0
M-4 Y—EXEBHBEDRERE 1-2 SHEDEE




I EE 5200
1—(1) RERBOER 5 5 100.0
1—(2) BEEE-BE 46 46 100.0
1—(3) RERE 16 16 100.0
1—(4) BREAR 70 70 100.0
2—(1) AFMRENREZEZE~NDEY 17 17 100.0
3—(1) R&-E#MHIE 21 21 100.0

IV ZERE

1—(1) #8Emorx
100

3—(1) =2 -E8H 1199 pmem-azx

=\

2—(1) AFTREDREEZEEZE~DER
% 100.0 T7d¢9 *

b
N
S

1= (4) o (BB ME




